O LED - DART HITS
N o O TEST POINT FIR
TARGET SCAN
J10 LINE o VOLUME O
LED - SYSTENS CONTROL
(to wall) g DPERATIONAL
Jo pove — |0 GAE
MAIN BOARD =
J2 DART HEAD ~
JB COMMNICATION IN =
(from another game) D D 4
% RIEBON CABLE
6 COMNICATIONS 0uT 0 CARD READER VIDED ouT
(TO ANOTHER GAME) S —— D
B-To1e A=t
PIN PIN
DIP SVITOHES 1 412y 1 GRD
FIR NETVORK [F 2 GRD 2 COIN IN (»
CONECTING GAES 3 GRD 3 +av
TOGETHER 4 SPARE 1 45v
5 45y 5 SPEAKER
& +5V & SPEAKER -
NUST ravE DOTH Sl 8 COIN METER 8 TARGET LAMP TRIGGER
OTHERS MUST HAVE SWITCHES 9 PLY CHG LAMP 9 COIN 1N <3
R 10 SELECT LANP 16 COIN IN ¢
11 PLY CHG SWITCH 11 AN/D

B - THE TWO GAMES AT
THE END OF THE NET CABLES
MUST HAVE SVITCH 3 CLOSED.

C - SWITCH 4 VILL ALLOV
THE MODEM SDUND TD PLAY
THROUGH THE GAME SPEAKER
FOR TEST PURPOSES,

12 SELECT SVITCH

LAMPS

TARGET LAMPS — 40 VATT MAXIMUM

LAMPS IN SELECT & PLAYER CHANGE
SHOULD BE GE6S8 — LAMPS IN COIN
DOCR CAN BE GE6S8 DR GE16l

1

i

Q LED - FLASH V/DART HIT

O TReer som | SMART TARGET

DART HEAD
TO MAIN BOARD

a

ARE JUMPER
DPEN FOR SUPER SPIDER []

MISSED DART DETECTIR []

C—— 1

N 1 .

.19
DART HEAD

S YOLTS
SIGNAL

SINGLE

= DUTER SINGLE

SWITCH MATRIX TEST

THE JUNPER JPL1 CDN THE SMART TARGET) MUST BE
REMOVED FOR THIS CHART TO BE CORRECT, OTHERWISE

0 TEST, REMOVE SWITCH MATRIX LEAD FROM JP8.
THEN SHORT TWO PINS TOGETHER AND RELEASE, -
THE LED SHOULD FLASH AND THE GAME SHOULD SCORE.

JP8 PINK i 2 3 4 Sy 14) 15 16 17 18| 19
6 1510 |IS15 {IS2 |IS17 {IS3 [PXXX |IS13 IS4 (IS8 {IS6 |ISI
7 T 115 {12 17 13 XX [113 [t4 me fr6 [l
8 [0S10 PS1S ps2  [ps17 pS3 XX pS13 ps4  [psis pse  pst
9 Ipio piS [p2 P17 {p3 XXX DI3 [p4 I8 [p6 i
10 1S11 {[S8 |IS16 [IS7 JIS19 IS0 |IS14 }[S9 {IS12 [ISS (520
1 11 {18 M6 [17 W19 P25 [Ti4 [19 (12 s 2o
12 11 0S8 [pSi6 pS7 ps19 pxx [Osi4 ps9 psi2 pss psao0
13 1 PG PIG lD7 Pﬂ PXX PH |D9 P12 FIS |IJ€0

GALAXY Service

DnCRAM

FUSE - LAMPS DNLY
[ ] 2a - sLov BV

ON/OFF FOR LAMPS &
[ ] MONITOR DNLY

RIGHT SIDE
OF GALAXY

(S(J/T(HWC»
72 SuPPLY

O O
O O
Switching supply [
115YAC IN
(o] O
@l
j:l DIMMER BOARD
1 1i1SYAC DUT

C 5 we

3.1 3 115YAC IN
O  rover corp 4A FUSE 0]
VIRING DIAGRAN P/N 38602 REVISION A



POWER SUPPLY ASSEMBLY
37046

FIG.# ITEM# PART# DESCRIPTION

27 1 14843 SCREW,6-32 X 1/4",RHP,ZN,SEM , W/STAR"

27/29 2 38463 SOCKET,POWER INLET,IEC"

27/29 3 19167 FUSE,HOLDER,CHASSIS MNT,SLOTTED CAP*

27/29 3 37003 FUSE,4 AMP,250V SLOW BLOW FOR SERVICE OUTLET"
28 4 36994 POWER SUPPLY BOARD,85-264VAC,+5 & +12,25W,SWG"
28 5 37002 GROMMET,ROUND,VINYL,.5 HOLE X 11/16 OD X 1/16"

28 6 38239 PCB,ASMBY,DIMMER, 120V*

28 7 38093 PLUG,DIMMERADJ. POT"

28 8 38087 SCREW,#6 X 3/4*

28 9 37009 SPACER,6-32 X 1-3/8, MALE FEMALE , ALUM STANDOFF*
28 10 15951 NUT.6-32 X 15/16 HEX,ZN"

27 1 38228 COVER,PWR SPLY,SHIELD,FOR DIMMER"

27 12 38309 CHASSIS,PWR SPLY,SHIELD BASE, W/DIMMER"

28 13 38088 SCREW,6-32 X 3/4,FHP"

27 14 38458 MAIN HARNESS FOR GALAXY,SWITCHING POWER SUPPLY WITH DIMMER
27/29 15 21462 SWITCH,ROCKER,ON/OFF,DP,SP,3A@250VAC

MODEMS & ACCESSORIES (Not Shown)

PART# DESCRIPTION
24614  INTERNAL MODEM KIT FOR GALAXY GAME
37389  MODEM KIT WITH CABLE FOR GALAXY
37388  MODEMKIT WITH CABLE & ADAPTER PC BOARD
FOR GALAXY MAIN BOARDS PRIOR TO REVISION |
37201 3 FOOT CABLE,EXTERNAL MODEM,DB25
37150  ADAPTER BOARD FOR EXTERNAL MODEM,
NEEDED WITH GALAXY MAIN BOARDS PRIOR TO REVISION |

Figure 27 PR
Figure 28

(£

Cialinxy Series Operator's Mo 2



